
Fog Lamp Instructions 
15 GMC Sierra HD/14 GMC Sierra LD/15 Silverado HD 

Please read all instructions before installation and to check to see that all parts are included. 

Table 1.0 

Tools Needed:
- T15 Torx Socket  
- Ratchet Wrench 
- Phillips screwdriver 

Before Installation Verify that all 
contents listed are included in your 

kit 

 KIT CONTENTS: 

Description  Qty. 

4" Round Puck with Wiring Harness  2 

3/8" Stainless Steel Spacer Washer  2 

Mounting Bracket  2 

10-32 X 3/8" Machine Screw  4 

#10 Lock Washers  4 

#10-32 X 1" Slotted Screws  4 

http://www.carid.com/putco/
http://www.carid.com/fog-lights.html


Fog Lamp Removal 

1. Remove a minimum of 5 lower T15 torx headed screws that hold the inner fender well to the vehicle. Carefully
pull fender well away from fender to gain access to Fog Lamp cavity. Refer to Figure 1

2. Disconnect factory wiring harness from the back of the fog lamp . Refer to Figure 2

3. Use  a Phillips Screwdriver to apply enough pressure to pop out the three mounting pins that secure the fog
lamp to the plastic housing. Refer to figure 3

Insert Screwdriver here Figure 3 

Figure 1 

Remove lower torx 

screws to allow access 

behind the front of the 

inner fender well.  

T15 Torx

Press Down Here 

Figure 2 



4. Remove fog lamp assembly and set aside for next step as some parts are reused.

Fog Lamp Assembly 

1. Remove Putco fog lamps from packaging. Check to see if all parts from Table 1.0 are included

2. Install stainless steel brackets on both fog lamps using 4 - 10-32 X 3/8" screws and locks provided (2 per
lamp).

3. Remove adjusting hardware from the original Fog Lamps and reassembly onto new Putco fog lamps. Refer to
Figure 4

Fog lamp Installation 

1. Connect Factory wiring harness to Putco Fog lamp. Ensure connectors are fully seated and can not be pulled
back off. Turn on fog lamps to verify everything is working properly

2. Verify that the three black retainers are still installed in the factory mounting bracket of the vehicle.

3. Align the fog lamp so that the adjuster bracket is down and the three mounting posts align with the vehicle's
mounting bracket.

4. Using firm pressure press the fog lamp into the three retainers. Ensure all three mounting posts are fully
seated and can not be pulled back out easily.

5. Turn on fog lamps to verify everything is working properly

6. Adjust the angle of the fog lamps by turning the adjusting screw from the backside of the fog lamp in the inner
fender well.

7. Reinstall the inner fender well screws

Figure 4 

Spacer Washer 


